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(1) Check the question paper for fairness of printing. If there is any lack of

Instructions :
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
ugd - 1/PART -1
@My : () SIEVSE o aTESHEHEGLD e wafl&sa|. 20x1=20

(i) Qar@esLiuLbarer oo SeoLsale Wseb gnyemLl
SenLeows CaMBOEHEES GO e e wlamanyd C&r&sl
ET(LPS@LD.

(i) Answer all the questions.

riate answer fr
d the corresponding answetr.

om the given four alternatives and

(i) Choose the most approp
write the option code an
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QEFW®, 1 oQururydemng GoememrenLd

1. “Gueraremw ererug LenGenTé &
ww Qeiidpg. Goaib uaflurereyuo,

Qaflenpg). Cuamarer Guara
Lefllleanyb Guararew Qaidpg” eremm saflueur
(i) i glq Gumian (<) Qamanl «-Eumua
(@) S F. gr&si () EW. GLerm
‘Management is a multipurpose organ that manages a business and manages Manager,
and manages worker and work’. Who said these words ?

(a) George Odiorne (b) Henry Fayol
(c) Peter F. Drucker (d) F.W. Taylor
2. NSEI Gsmpmedlssiiuie e :
(<=1) 1997 (<) 1990 (@) 1992 (rF) 1998
NSEI was established in :
@) 1997 (b) 1990 (€ 1992 d) 1998
3. Qsulen gemeenOWHD <}, GLD.
(1) Qevedl (<=4) BOSEHT (@) weu () Qgemenen
The headquarters of SEBI is ;
(a) Delhi (b) Calcutta (c) Mumbai (d) Chennai
4. samml (A) : eflgaer Guararew LS SETEHE LHOMTETS
Qewdur®.

smenwid (R) :  @s®ar Wigeisarmed GG sjeredlL (LplguLd.

(=1) (A) oMl yarred (R) seum

(<) (A) wLHmD (R) @raw®Hb g, Guaib (R) erarugl (A) -&@ sflwrer
eileT&aLD

(@) (A) wpoid (R) @ram @B &fl, GCoaibd (R) cranugl (A) -&@ sfwren
NeTEH&HLD Bje0eD

() (A) sum ermed (R) &l

Assertion (A) Human Resource Management is an intangible function.
Reason (R) 2 This can be measured only by Results.

(a) (A) is correct but (R) is incorrect

(b) (A) and (R) are correct and (R) is the correct explanation of (A)

(¢) (A) and (R) are correct and (R) is not the correct explanation of (A)

(d) (A) is incorrect but (R) is correct
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Qe el < Ceriy eremugl _ apeG sTHSlwi.

<) 48 (=) Sanflar]
(&) QavewTwid (FF) Sisem euflens

E-Recruitment is possible only through ___facility.

(a) 4G (b) Computer

(c) Internet (d) Broadband

@@ Howob uHey QelwoulL _ BrLs@E5sGer QusGnreaey

(psHEaL LD gLl Gauam@ib.

(1) 50 (<) 45 (&) 30 (rr) 60

First meeting of Directors should be convened within days from the date

of incorporation of the company.

(@ 50 (b) 45 () 30 (d) 60
m&iGeaurfler QurmiLy eremLg e ng)gjsrrsn <2},6u aur GLo
QUITHL_SE6T GUIAIEILISDETET {60 ITETONGELD.

(1) @i (=) Qrrés rés)

(@) 2 5570uTs L (rr) CUHESTEDID OETSHILD
It is the responsibility of a consumer that he must obtain as a proof for
the purchase of goods.
(a) Invoice (b) Cash Receipt

(¢ Warranty Card (d) All of these

sT5@ ofhLemean RUILBSSHD 678 WPSHEL 2 QLULTS Qmé&éng ?
(<=1) efleme (=) @ srudent

(@) Qarsgifleno wrHOLD (F) AMeTSHILD

Which of the below constitutes the essential element of contract of sale ?

(@) Price (b) Two parties

() Transfer of property (d) All of the above

[ Slpliys / Turn over
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9.  Qurmsss.
(1)  seomed Qam

@)  Buwrrs ukie shang

(i) seomigw LIk FHenS

(2) eume Qgm
(3)  ewurr@® CQsm - (i) wumbGu Uk FHens
(4) QumyrarGLr - (iv) Qeearier ukiG FHS
(=0) @) - (), @ - @), ©G) - 6), @ - (i)

(=) @) - @), @ - (D), @) - ({), @) - (iv)

(@_) (@) - @), () - (iv), (3) - (i), (4) - @)

(FF) (1) - (@), () - @), @) - @), @) - (i)

Match the following :

(1) Dalal Street - () New York Stock Exchange
(2) Wall Street - (i) Canadian Stock Exchange

(3) Lombard Street (i) Bomb\ay Stock Exchange

(iv) London Stock Exchange

(4) Toronto
@ (1)~ @), () - (i), (3) - (), (@) - (i)
(b) (1)- (), (2) - (i), 3) - (i), (4) - (iv)
(© @)- (@), (2) - @{v), @) - (i), (4) - (i)
@ (D) - @i, ) - @), @) - (i), (4) - (i)

10. 1881 -yb an® @B wrHnpern peuardsL b Kfley 123 sameug -

(=1) Quirgs Smedled (<) sLaymdé &0
(@) &mliys Emedled (rF) rHmE &G
Section 123 of the Negotiable Instruments Act, 1881 deals with :
(a) General Crossing (b) Promissory note

(c) Special Crossing (d) Bill of Exchange
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12,

13.
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LOIDDIPEND euems s sHear &1 eu(Heug)
(=) uiiEs AsrEd (=) LGS srendsp
(8) vk

Specify the document which comes under the Negotiable Instruments Act :

(FF) uhigflenio <y enant

(@) Stock (b)  Share Certificate

(c) Share (d) Share Warrant

Goararewuida Aewdur@sas waemeamwurag ag ?

(=) pyabszed () HgimwlLuG 85D
(8) sLBuuBssss () SLLBBzD
Which is the primary function of Management ?

,(a) Decision - making (b) Innovating

(c) Controlling (d) Planning

&0 Qasr@ssliul Lamasald QUTHBSTS Glenar g ?

(=) penCamsdu ehans - ardliiane FHMG
() sL6 FHOS - @rsl usSlrhiser
(&) wewé spang - aeflsg sretaer
(rF) gwodlove LBIEG sHOS - SLET_(H) UsSrhiseT
Which of the following is not a correct pair ?

(a) Forward Market - Future Market

(b) Debt Market - Government Bonds

(c) Money Market - Commercial Papers

(d) Equity Market - Debentures

[ﬁ@'i“-lfﬁ / Turn over
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14.

15.

16.

17,

Qurr@gﬁmﬂ.)ﬂ) Geulumerenyy BE@augpasrar Qewe e )
:%I@gpéSEBDu@a?lg)@,

(=1) grem@Bse | () Gairay

(@) 2L Cariiy () Cpiramenred

The process of eliminating unsuitable candidate is called

(@) Induction (b) Selection

(¢)  Recruitment (d) Interview

uri@ ufleauissemear shas G Qeuaurn SempssLLBSDSG

(=1) Co8lw speng (<) BeT& FHNS

(8) ecm@nt sHens () urgsTiy FHeng
Stock Exchange Market is also called

(a) National Market (b) Spot Market

(c) Local Market (d) Security Market

5C Aasr@saiiu’ Herer sapsefd) sHasud Hans HOamaEE T Glders
PO &0 TGl ?

(<) cllova s () @b s

(8) Qummer Fmm (/) SIS anpm

In the following Variables, which one is not the Variable of Marketing Mix ?
(@) Price Variable (b) Place Variable

(¢) Product Variable (d) Program Variable

matGeurfler o fenwaer jeursar Caram@Berer Hleanaude <4 BLD.

(<21) SLensET (<) SjeraiDser
(@) ehuemer FlsliLRssse () Curmliyser
As the consumer is having the rights, they are also having
(@) Duties (b) Measures

(c) Promotion (d) Responsibilities

— e
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18. eusfluuailsaiies L Quprsg

(<) sLBwbd Qeliged (=1) HHEGL D
(&) shHens ss6u () CursGeurss
Facilitating functions do not include

(@) Packing (b) Financing

(c) Market information (d) Transportation

19. QuAlu Apeamkssisr Asmd wagamsHon unGsbs SPlu PSSLLTGSE

2gejeg _ <BGWD.
(1) Hlene eneuLiL|ser (_c"éb) ugevuy B
(@) uhi@ser (F) s () usHrhser

enables small investors to participate in the investment on share capital of

large companies.

(a) Fixed deposits (b) Mutual Funds
(c) Shares (d) Debentures

20. SpssamLeuppieT QUIGHSTES GeeDs FTENTS
(1) swsIUHSSISD
(<) CubuBS5I5®
(@) CamliuLrg eSlameRTiLSmyTee
() phens efameauriLgTyTaear
Find the odd one out :
(@) Acquisitions

(b) Upgrading
(c) Unsolicited applicants

(d) Previous applicants

[ Hmliys / Turn over
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L@3 - 1I/PART - II

@.'151';"-!: 67(35@1& 7 aﬁ\sﬁrrré;a;@é;@ e weflseyn. <Hod 30 -eug
eflenrellnE sL_Lmub elen_wefds Ceuam@Lb. 7x2=14

Note :  Answer any 7 questions. Question No. 30 is compulsory.

21.  Gamevigiieh spmiiLlg Lk wrHpssHperar elereilassad Fnis.
Define Stock Exchange according to Hastings.

22. <L Garller Qummer s(Hs.

Give the meaning of Recruitment.

23. &heng erenmme) erene ?

What is Market ?

24. gran F. Qaenany saflu merGeaur 2 flemwsar wrea ?

What are the Rights of Consumer according to John F. Kennedy ?

25. o U LDF G Gremprey eremer ?

What is internal environment ?

'26. Gueranews smelsamerts UL igwelhs.

List out the Management tools.

27. Q&L LSSHIEIGE EHMS ETEMTE) erevar ?

What is Government Securities Market ?

28. GampmeNILTeT GTemLeT W ?

Who is called as a Promoter ?
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29. Gsmfled pavaTuehEG LELUMUeS Hper erer jeudlwib ?
Why should an Entrepreneur possess Analytical Ability ?

30. arYslILKESES QsNurgal @m LIHH WD BeETEDS CTel T
GuQepgieum ?

If the payee is an illiterate, how can he endorse a negotiable instrument ?

L@d - II/PART - I

@A : aCseab 7 damssEsg odmLwelssa)b. ol erar 40 -5©
sU_Lmub elenwell&Esa|. 7x3=21

Note : Answer any 7 questions. Question No. 40 is compulsory.

31. @HWesE Goardramouden GuicLse TenauGand epETHIEET GT(PSIS. |
Write any three features of MBO. |

32. gialar B Hneuamsdr - oflarses.
Explain about Venture Fund institutions.

33. ‘sl - NeT&GS.

Explain ‘Bear’.

34, oy Gaimiy QewdUMige o e LiigiFlene&enems dnis.

State the steps in Recruitment process.

35. ‘aueasers spaguiLe’ - elarE@s.

Explain E - Tailing.

36. Qawmensll UDDTEEG®D GTEsIMTE) Grestesr ?

What is meant by artificial scarcity ?

[ H®Lys / Tum over
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37. eQwrurygden mereantil GLpe sryetlsailey epeadleanend Fnmis.

Write about any three micro environmental factors of business.

38. GQgefleuren Qgmifled paaGalm(HéHE 2bol o HITEMEEDS S(HS-

List down six examples of pure entrepreneurship.

39. engmyem Stored Cgameiliu@b qCsaud (P QEwOUTHEMETS S[HS-

Give any three cases in which an ordinary resolution need to be passed.

40. wrHm e peuamrsHe GubewpH GLib Cungedlda a6 WEDIE 6T6e T
Culepsemd ?
When there is no space in Negotiable Instrument for making further endorsement,

how can it be endorsed ?

L@@ - IV/PART - IV

GO : Sievesgl elamés@EELD eflenLwefl&Ese,b. 7x5=35

Note : Answer all the Questions.

41. (=) apegard sbaswien Spliduousamar eflourdlEsa|ib.
SI60605)

(=) e9SleflewsE G ramenoudlen HETEnD&ET WTenel ?

(a) Discuss the characteristics of Capital Market.
OR

() What are the advantages of MBE ?
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43.

44.

45.
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(=) ézgngf;?i@ LDLI')[_‘[,an . Qurr(r.})'l'_&;eh uflorppsAH & e Cwwrear
SO phHHenens sams.
3{60605)
(<) LGHAW e smfluiTsEréEs HApLsED emenose Wrema ?
(a) Explain any five differences between Stock Exchange and Commodity Exchange.
OR
(b) Explain the benefits of training to the Employees.

(<=t) saLé sHens eramUmg ellaTéEs.
960608
(=) e-ELWILTEHE STEESDS eNleTé 5.

(a) Explain in detail about Niche Marketing.
OR

(b) Explain the impact of Globalization.

(=) m&TGeurilen > Mepsefd gCsabd gbdaman efleTsEs.
‘ 3|6V605)
(=) P& spengufa Lriiflenan efleurdlEsayib.
(a) Explain any five Rights of Consumers.
OR

(b) Discuss the role of financial market.

(1) EHUY euars :
() eu@UY Fal LD (i)
S|6V60 G
(<zp,) LOTDDI PP syaiamgden aTRCHTES
(a) Give short notes on :

(i) Class Meeting (id)
' OR

HLaHCHTT Sl LLD
6T wirenel ?

Meeting of the creditors
(b) Mention the presumptions of Negotiable Instruments.

[ §pLriys / Turn over
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46.

47.

(1) Qarifléd werarGeur LHMID &5 Asmifa @mmGsmrrr @ euisener
CaumuHSg1s.
S{VEV G
(<) Ut hiser wpmb Cameusar sefly spesude sHosd LG TESEID
ghgl Cummlsaer aileufl&se,Ld.
(a) Distinguish between an Entrepreneur and an Intrapreneur.
OR

(b) Apart from goods and services, explai_n any five items that can be marketed.

(<=1) ®. 16 et @ Hmiwssen @u&@;r)urras uenflwrsslu@S DT,
@i safluul L pepuld eperprd FUGSE Curmriureuryr ? LD
eraflad eré@phlaasafld oeur GQurgliumeurr ?
TNV

(<) Hmwd. apHur eaueai ySw Asrfle gaoDs QgrLhis&
oyt Seurg Qsmdad Gruransdled eglrtlsmer(enn gCHeibd
mhg Feurasamer ailafll&saib.

(a): Mr. Raghu is appointed as a Director in a Company. Is he personally liable to
third parties ? If so, under what circumstances is he liable ?

OR

(b) Mrs. Cynthia wishes to start a new business unit. Explain any five challenges
that she will have to face during the course of her entrepreneurial journey.

-000-



